
f = BezierFunction@880, 0, 0, 0<, 81, 1, 1, 1<, 82, 2, 2, 2<<D
BezierFunction@880., 1.<<, <>D

f@0.3D
80.6, 0.6, 0.6, 0.6<

Γ = Interpolation@8
80, 80, 0, 0, 0.1<, 881, 0, 0, 0<<<,

80.8, 80.8, 0, 0, 0.1<<,

81, 81, 0, 0, 0.2<<,

82, 82, 0.5, 0, 0.1<<,

83, 83, 0, 0, 0.1<<,

84, 81, 0, 0, 0.1<<,

85, 82, 0.5, 0, 0.1<<,

86, 83, 0, 0, 0.1<<,

86.2, 83.2, 0, 0, 0.1<<,

87, 84, 0, 0, 0.1<<
<D

Interpolation::inder : The order-1 derivative of 80, 0, 0, 0.1< is not a tensor of rank 1 with dimensions 1. �

Interpolation@
880, 80, 0, 0, 0.1<, 881, 0, 0, 0<<<, 80.8, 80.8, 0, 0, 0.1<<, 81, 81, 0, 0, 0.2<<,

82, 82, 0.5, 0, 0.1<<, 83, 83, 0, 0, 0.1<<, 84, 81, 0, 0, 0.1<<, 85, 82, 0.5, 0, 0.1<<,

86, 83, 0, 0, 0.1<<, 86.2, 83.2, 0, 0, 0.1<<, 87, 84, 0, 0, 0.1<<<D

ParametricPlot@Take@Γ@tD, 2D, 8t, 0, 3.5<, PlotPoints ® 20, Axes ® FalseD

Γc = 8
0 ® 80, 0, 0, 0.1`<,

0.8` ® 80.8`, 0, 0, 0.1`<,

1 ® 81, 0, 0, 0.2`<,

2 ® 82, 0.5`, 0, 0.1`<,

3 ® 83, 0, 0, 0.1`<,

4 ® 81, 0, 0, 0.1`<,

5 ® 82, 0.5`, 0, 0.1`<,

6 ® 83, 0, 0, 0.1`<,

6.2` ® 83.2`, 0, 0, 0.1`<,

7 ® 84, 0, 0, 0.1`<
<;

Γi_ := Interpolation@8ð@@1DD, ð@@2, iDD< & �� ΓcD;
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Γ1

InterpolatingFunction@880., 7.<<, <>D

ParametricPlot@8Γ1@tD, Γ2@tD<, 8t, 0, 7<D
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